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LA IRETRITA R A BN B3 44

Fe B3 o BHHESTH gams | FEREAN
1 ERAAEE T RA #*A 320621 k¥ *k*k%%4]126 80.20 b
2 ERAEE T RA Z* 32021 k#4438 79.60 =
3 ERAEE T RA > 500108********5]49 78.20 =
4 ERAHEE T RA R2* 320283 % ¥k *k%%756) 78.10 =
5 ERAEE T RA k>4 622623 ***k**%%326() 75.70
6 ERAEE T RA R 342423 % ¥k xk%x7044 75.50
7 ERAAEE T RA R2* 320283%****kx%0(]3 74.90
8 ERAEE T RA % 320282%* ¥k **%%6]66 74.70
9 ERAEE T RA g 320925%****kx%2(02X 73.80
10 ERAEE T RA Z* 320282%*kk**%%]826 68.80
11 ERAAEE T RA b 320283%* k¥ *k*%65)3 68.30
12 ERAEE T RA k& 32028 1 F**k**%%7506 67.00
13 FRUHETE T RB-1 Jii* TG 320283 ***k*k*%507X 67.00 P
14 ERUHETE T RB-1 K 32021 [ #¥*kxkx%50]() 65.70
15 ERUHETE T RB-1 % *1iL 320203 ***k*kx%2554 62.80
16 FRUHETE T RB-1 LA 320081 *¥*k*k+%4975 51.10
17 ERUHETE T RB2 E 320124 %% %kxkx%]20X 75.40 P
18 ERUHETE T RB2 o 320204+ **+k4%3043 72.10 P
19 ERUHETE T RB2 i 320202 #*¥*k+%4028 67.70 P
20 ERAHETE T RB-2 bL A 14 620102 ¥ *¥*kx%(062 | 66.80
21 ERUHETE T RB-2 h* 321322%k*kHkE%(689 66.20
22 ERUHETE T RB2 b 320283 % *k*k4%0963 65.20
23 FIRKEE T AB-2 x| * 1eg 210421 #¥*kxk4%]879 64.40




